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Code number given on the right hand side of the question paper should be written on the
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General Instructions :
(i)  This question paper contains three parts A, B and C.
(ii) Part A is compulsory for all.

(iii)

There are two parts. Part B — Financial Statement Analysis and Part C -
Computerized Accounting. Attempt only one Part.

(iv) All parts of a question should be attempted at one place.
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aT - &%
PART - A
(AT GHT qT St % e araie)

(Accounting for Partnership Firms and Companies)

TH WRRR & SEHR WUl & W GAHeddT W & 6 GaFl F= % 9 § &
FITQTP[:

(3) A TTHRT TEUT A el AEER & Isit @l | |

@) T WRRRI & UST @il § S [/ AT foS S

@) 9 TERRT % ST @il § S 7 oy foet erua | |

@ 9 UERRI % ST @ § A% [ o foTet e | |

At the time of retirement of a partner ‘Loss on Revaluation’ is debited :

(a) only to the capital account of the retiring partner.
(b) to the capital accounts of all the partners in their old profit sharing ratio.
(c) to the capital accounts of the remaining partners in their new profit sharing ratio.

(d) to the capital accounts of remaining partners in their old profit sharing ratio.

AY-B1 faf e @ g ary-eii i @’ | 2T Hifey |

Differentiate between ‘Profit and Loss Appropriation Account’ and ‘Profit and Loss
Suspense Account.’

ESTE, ST 20 Hig Ueh FH & GEER 9 | S2F 301 b Alfctsh 3MEe o &F H U
T WERR @ | IEHE U 31 & foiu vA Ot oo wta wiEad w6 it A o
TRTGE J WERR &4 ¥ Id ®H Bl 5% Wiqad i =T 57 W T 10,00,000 T TH F0T 521
T AT | HH B GG 3 3 910 W 6T 3 Vel € 1 FOT W AT B/ PTAE 6% Hiqad
1 T G TohaT STHT TNEW | ST ST TET AT Tl & 2 310 IR o GHAT H HROT ST |

Shahzad, Raja and Sohan were partners in a firm. They admitted Angad Singh, their
Landlord as a partner in the firm. Angad Singh who brought sufficient amount of
capital and his share of goodwill premium. Angad Singh had given a loan of
% 10,00,000 @ 5% p.a. interest to the partnership firm before he became the partner.
Now the accountant of the firm is emphasizing that the interest on loan should be paid

@ 6% p.a. Is he right in doing so ? Give reason in support of your answer.



4. &7 R MU Sfen o QTR @l ffa | w9 sl W fed I wt ufer e | @ e
31tges T & Wb 2 1
(37) Ul 3¥er |l 7S G H 10% F |
@) Ui 3T ue USh 6% |
(@) &1 TR T STeN uX ufe 3T U AT |
() &1 TR 3i9T o’ Ui o797 oted T |

When forfeited shares are reissued the amount of discount allowed on these shares
cannot exceed :

(a) 10% of called up capital per share.

(b) 6% of paid up capital per share.

(c) The amount received per share on forfeited shares.

(d) The unpaid amount per share on forfeited shares.

5. 3T @ H A9 T SEE T KOS & I % uvEE SROIS MY §9g 99
TN fohar STar € | 1

Name the account to which the ‘Balance of Debenture Redemption Reserve’ is
transferred after all the debentures have been redeemed.

6. UH 99 WERR & YA¥ W, Yo % 99 Fefd-foeror § qeid T e SO 9 s @d
1 & ST o 1 ST 1
(37) N fafaeH @ H |
@) TN ERRI &% S @ o
(@) T GRERI % S @ o |
®) YA @ |
When a new partner is admitted, the balance of ‘General Reserve’ appearing in the
Balance Sheet at the time of admission is credited to :

(a) Profit and Loss Appropriation Account.
(b) Capital Accounts of all the partners.

(c) Capital Accounts of old partners.

(d) Revaluation Account.

7. WP HH R ST T o T 2,50,000 § | TEH 3G SMUR W egeithd T 10,000
Wi wiwfed € | =a@E ¥ T 14,00,000 1 G FET & 74T Ted™ Bl T K 15% €
AT o TR 0T & SR T TH 3t AT B Jodish HiT | 3
The average profit earned by a firm is ¥ 2,50,000 which includes overvaluation of
stock of ¥ 10,000 on an average basis. The capital invested in the business is
% 14,00,000 and the normal rate of return is 15%. Calculate goodwill of the firm on the

basis of 4 times the super profit.
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T feafaes 3 ¥ 500 UAF F T 50,00,000 F 8% FOHT N EA THGed WX fHAT | oA
FOTTS T WM 5 U o T 10% o W 0 A1 ¢ | FAie 6t 9t & SFER 36
W T 250 T & TAT A BT YA FOTHT P e T BT AT |

8% SROTTET o (A o 90T STa¥geh AT Wie et i |

Ekta Ltd. issued X 50,00,000, 8% debentures of I 500 each at par redeemable at a
premium of 10% after 5 years. According to the terms of issue I 250 was payable on

application and balance on allotment of debentures.

Record necessary journal entries at the time of issue of 8% debentures.

AATHT & Teh i H, “A< faffee” arRy 791 &1 U 91dr € | S & ufshar § T8
TATEROT G & Sl AFSUS AT & | S 98T oo e o felT 9/8 ek Tepet weAelt & e
&1 o e & e & ST % ot Ueh W &g Jefrdl © | HA0T g 37T i
T & TG A o STt o & ToIw, [aeivesy TusT o glawmdtad o & fou, SIREve § U
TE IR THTS T e Al & | Ta ol STegaehel & T A & foT AT 5 T 100
TeI% & 50,000 39T I THEET T q7 T 50 U & 80,000, 10% 0TI bl FHIHT A hT
ot foram |

3T T 0TI o 1T o foIu strerearsh ISt Hiafedt hivie | Uh UF o &
eI o HISTT FH I THST Sl GUET AT ded € |

‘Nandan Ltd.” is a manufacturer of heavy machines in a town of Telangana. It follows

high standards of environment safety in the process of manufacturing.

The company runs a school to provide quality education and a medical centre to

address health issues of the resident of that area.

The company is doing well and is going to start a new manufacturing unit in
Jharkhand creating livelihood for people, especially those from disadvantaged sections
of the society. In order to raise funds the company decided to issue 50,000 shares of

% 100 each at par and 80,000, 10% debentures of I 50 each.

Pass necessary journal entries for the issue of shares and debentures. Also

identify any one value which the company wants to communicate to the society.
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10. 1 30T, 2012 3l TH FHI A T 100 T&F 3 4,000, 9% FOTH 1 FRIET 10% % 95 W B |37
IO T IMEA 10% o WITHIH O AT 41 | O ! ¥4l o SR 31 A9, 2014 ¥ &
Yk HAT ol TBFAR U Got ISR I 359 Yk 3T 8 o 51T T 40,000 o 0TI
ST AT AT | 3

31 AT, 2014 H BT 7 Gl IR G IMET FH o T T 32,000 3 FOTTA FI 56T
% 95 Ui ROTY 7 3 8,000 3 KUY hT 36T T 90 Ufd SROTYS foham | 56 9T T 1,000 hi 19T

FTIEE |
9% FROTTHT o I o [T ATEvaeh AT Hlaredr iy |

On 1** April, 2012 a company issued 4,000 9% debentures of ¥ 100 each at a discount
of 10%, repayable at a premium of 10%. The terms of issue provided for the
redemption of ¥ 40,000 debentures every year commencing from March 31%, 2014,

either by purchase from open market or by draw of lots at the company’s option.

On March 31%, 2014, the company purchased for cancellation its own debentures of
the face value of ¥ 32,000 at ¥ 95 per debenture and I 8,000 at T 90 per debenture. The
expenses of purchase amounted to I 1,000. Record necessary journal entries for

redemption of 9% debentures.

11. 3T, Tt a9 5o Uk % & WIERR & T 4:3:2 & 30 § oy died o | BH 1 T&shl
o =1 T 81,000 TAT R God T 54,000 TVTIT 7T AT | 3 A ®H F TR Ug0T i
1 0T T | 3Tk STERIYT U@Vl i TdTd Sl wH ol @A 1 Jodisw < 1,35,000 a1 T2 |
et a7 fEeaT T AT T foIS ST 1:2 o |

3] o 3TEHIRT TEUT Tl W ST ST Tt i | 4

Ashu, Sonal and Divya were partners in a firm sharing profits in the ratio of 4 : 3 : 2.
Goodwill appeared at ¥ 81,000 and general reserve at I 54,000 in the books of the
firm. Ashu decided to retire from the firm. On the date of his retirement goodwill of
the firm was valued at ¥ 1,35,000. The new profit sharing ratio of Sonal and Divya

was 1: 2.
Record necessary journal entries on Ashu’s retirement.
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12. TR, o639 Qe ST U H o WERR & 91 3:2:1 & 3FUM § onT dfed & | 31 O, 2014

i 3T FETa-ToeroT F Weh o
eIt i wrtat i
® ®
3 foet 1,20,000 | Vg & 20,000
GREALE 1,40,000 |3WR 1,40,000
I HT 5% FOT 1,00,000 | ure foet 70,000
g 1,80,000 | =i 1,70,000
ST foyerer 1,30,000
gl 2,00,000 TostTom 3fem @ 1,20,000
X 1,20,000 GCE] 2,90,000
3= 80,000 | 4,00,000
9,40,000 9,40,000
12 S, 2014 ol HH 1 LT &1 T T RN Goid & AR 3Gk TR 1 - 3
q1 .
(371) 3D G I AT T &H o AN H IR AT STt 701 S fuset d9 R gu At o
S A & 3MMYR W 6! AT |
(F) H B S H IGHT 9T HR 0T el I a6t & Pl AT & S T6 F HF B

SR WX i STRAT |
(@) e dF adi & @y 9 : T 30,000 ; 3 70,000 74T T 80,000 |
3Gk ToAIEeT T WG e & [oTT e T ISt QT AR iy |

Priya, Karam and Anna were partners of a firm sharing profits in the ratio of 3 : 2 : 1.
Their Balance Sheet on March 31, 2014, was as follows :

Liabilities Amount ) Assets Amount )
Bills Payables 1,20,000 Cash in hand 20,000
Creditors 1,40,000 Debtors 1,40,000
Karam’s Loan @ 5% 1,00,000 Bill Receivable 70,000
Reserve 1,80,000 Stock 1,70,000
Capitals : Investment 1,30,000
Priya 2,00,000 Advertisement
Karam  1.20.000 Suspense Alc. 1,20,000
Anna 80,000 4.00,000 Building 2,90,000
9,40,000 9,40,000




Karam died on June 12, 2014, and according to the Partnership deed his executors

were entitled to be paid as under :

(a)

(b)

©

His share in the profits of the firm till the date of his death which will be

calculated on the basis of average profits of last three completed years.

His share in the goodwill of the firm which will be calculated on the basis of two

years purchase of total profits of last three years.
Profits for the last three years were : I 30,000, ¥ 70,000 and X 80,000.

Prepare Karam’s capital A/c to be rendered to his executors.

13, Y T TEIT 1 GHIEST H o 99N 31 HE, 2014 0 TehHal, 3ifha a2 =6d o Isi
= 9 AT % 1,50,000 ; ¥ 2,10,000 TAT X 2,70,000 I & | THeh U I TAT AT T IS
TAT STERVT T AT F&l ST T ¢ |

31 T, 2014 1 GHTT T a9 T @M T 1,20,000 AT |

U H Tl 7 T 24,000 hT 3TEI0T {ohaT e 3ifehd o =Red U o se foheal o
Uedish fmmel & TeT T et T 24,000 HT ST AT |

3TERVT W 5% Wiy 3l ST F SIS T AT TF1 ToTt W 10% Wiy 31 3T | 1T < T |
TISSRT T o foToF 31T 1:2:3 T |
31O HAHRT Tl ol T T I IR §U v IR Ut Hie |

On March 31%, 2014, the balances in the capital accounts of Ekta, Ankit and Chahat
after making adjustments for profits and drawings were ¥ 1,50,000, ¥ 2,10,000 and

T 2,70,000 respectively. Subsequently it was discovered that the interest on capital and

drawings had been omitted.

67/3

The profit for the year ended 31% March, 2014 was ¥ 1,20,000.

During the year Ekta withdrew ¥ 24,000 and Ankit and Chahat each withdrew a

sum of ¥ 24,000 in equal installments in the middle of each quarter.

The interest on drawings is to be charged @ 5% p.a. and interest on capital is to
be allowed @ 10% p.a.

The profit sharing ratio among the partners was 1 : 2 : 3.

Showing your working notes clearly, pass the necessary rectifying entry.

7 [P.T.O.
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(30 e S T Tt vlattedt § Re @ a aiky

fafer

faawor
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39T BT @i |
YT 3MEeT @ §
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)

e <1 T AT ufefteat § R @ s gid i

3797 BT @l
39T STt @ o

( 70 Wl 3797 Wt 3T T T 80 We, 800
WEFFT-TW)

3797 BT @l
ISl Hed @rd @

(@07 TR T 3TRT o O e o)
T ST ST @I | TR

fafer faawor ™ S
® ®
391 GST @ 80,000
e Br I 1 1o i (R I A —
____________ 3
3791 YIH AT G 9 60,000
@ 100 Y% & 1,000 379 o9 oW
¥ 80 Ufd 271 O AT o4 991
10% o 93 W Fifaa fean mar oar =
T ITEHT T A Al e I 80T
S @I 56,000
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(a) Fill in the blank spaces in the journal entries given below :

Date Particulars F Dr.® | Cr.(®
Share Capital A/c. Dr.| | -
——————————————————————— Dr. —mmmmee

To Share Forfeited A/c 6,000

To Share Allotment A/c | | | —oeemee

To Share First Call A/c | | | —eeemen

(Being 2,000 shares of I 10 each
% 8 called up issued at a premium of
%3 2 per share forfeited for non-
payment of allotment of ¥ 5 per
share including premium and first
call of ¥ 2 per share)

Bank A/c. Dr. 19,600

To Share Capital Ac | | | -

(Being 1400 shares reissued for
% 19,600 as fully paid up).

Share Forfeited A/c. Dr.| | e | eoeeee

To Capital Reserve A/c. | | | -

(Being profit on reissue of forfeited
shares transferred to capital reserve)

67/3 10
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(b)

Fill in the blank spaces in the journal entries given below :

Date

Particulars

Dr.
(9]

Cr.
®

Share Capital A/c.

To Share Forfeited A/c.

To Share first call A/c.

(Being 1000 shares of ¥ 100 each,
T 80 called up issued at a discount
of 10% forfeited for non-payment
of first call)

Dr.

Bank A/c.

Share Forfeited A/c.

To Share Capital A/c.

(Being 800 shares reissued at I 70
per share I 80 paid-up)

Dr.

Dr.

Dr.

Share Forfeited A/c.

To Capital Reserve A/c.

(Being profit on reissue of forfeited
shares transferred to capital reserve)

Dr.

80,000

11

[P.T.O.
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Vo, I qAT THEH Th T H TR & q247 3:2:1 % 3FAE H @ dfed & 130 SH, 2014
I IR T T 6T H 1 0T forar | 39 Tt ot w1 Refa-foeror e wer § or

s s
FaTt Tt
®) ®
TR 50,400 13,700
HeeT IAR-Te1a i 10,000 20,100
Hferd i 12,000 62,600
ECIE 16,000
I 30,000 20,000
It 20,000
ECIITEe) 10,000 60,000
1,32,400 1,32,400

TEIEr ot Sgel! T SIS 1 A 4 TR ¥ <A T
(3) a7 et ®r % 18,000 H of fomam |

(&) T A RH T 17,500 T o foTar T ieq o FHraR Sl e god W of forar |

(H) TR T 60,500 U g |

(3) SIRI BT U7 A fehan AT T agelt 54 T 4,500 & |
el T, Aehg TIAT TAT WIRRT o Gl @I TR i |

12
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Bhuvan, Suraj and Ibrahim were partners in a firm sharing profits in the ratio of 3 : 2 : 1.
On 30™ June, 2014, they decided to dissolve the firm. Following was the Balance
Sheet of the firm on that date.

Amount Amount
Liabilities Assets
) )
Creditors 50,400 | Cash 13,700
Investment Fluctuation Fund 10,000 | Stock 20,100
Reserve Fund 12,000 | Debtors 62,600
Capitals : Investments 16,000
Bhuvan 30,000 Furniture 20,000
Suraj 20,000
Ibrahim 10,000 60,000
1,32,400 1,32,400

The assets were realized and the liabilities were paid off as follows :
(a) Investments were taken over by Bhuvan for I 18,000.

(b) Stock was taken over by Suraj for ¥ 17,500 and furniture was taken over by
Ibrahim at book value.

(c) 60,500 were realized from the debtors.
(d) Creditors were settled in full and realization expenses were < 4,500.

Prepare Realisation account, Cash account and Partners’ Capital accounts.

SRT fAtaee 1 Usiighd Gt 3 10,00,000 & ST T 100 Tcdeh o THAT 3190 § forvyerd & | e
T STCT BT 84,000 373 T THIH 9T FHIHT S o1 TATe fohaT | AT 71 TehR ¥ 3 o
3MMeRT - ¥ 30 Wid 39T

e W- T 40 Wfa 3i9r (hitaaw afea)

T T A I W= T 50 Ui 3T

80,000 3791 % feTT 37res e U |

=7 ! ST Tt AT U & e

200 37T % TS YR, TG 3T qT AT 9T B P el AT |

400 3791 % TS YR, TRY = ATTAT AT BT PIAT el (b |

FHIET 5 ORGT T URE o 3T T 8207 Y T3 |

3k g &X0T fohd T 379N Wi T 80 Wit 39T YUt uewt g Fitee Y T |

SURIHT AT & T SHHT Bt Tehg &l aT IS § ufaftedt i | 8
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Dogra Ltd. had an Authorised capital of ¥ 10,00,000 divided into Equity shares of
T 100 each. The company offered 84,000 shares to the public at premium.

The amount was payable as follows :

On Application — X 30 per share

On Allotment — X 40 per share (including premium)

On First & Final call — X 50 per share.

Applications were received for 80,000 shares.

All sums were duly received except the following :

Lakhan, a holder of 200 shares did not pay allotment and call money.
Paras, a holder of 400 shares did not pay call money.

The company, forfeited the shares of Lakhan and Paras subsequently, the forfeited
shares were reissued for I 80 per share fully paid-up. Show the entries for the above
transaction in the cash book and Journal of the company.

3ar/OR

HET e [Aes 7 T 10 U9% & 1,00,000 THAT WM BT 10% g O 1ET fmar =i T 2
3EET 9T, T 3 3MEeT W A T 2 AW q7 aH I Ui W ST 4T | 1,50,000 373 %
o0 STMeR T U 1 50,000 3T¥T & STERERI T WI-UF WS ST TT qAT 3R AT YT Y
YT |

TR, Ueh SVTRSE = 39 3,000 379N U 3eie TRT T P &t fohan, 39 29 reT
T A T AT o 91 Y S |

Teh 3TURe, e, fSTaeh ar 700 3197 9, F <1 JraTeT 6l I Tee % Qe
<o |

TF SRMER, T, T8 T 1,000 37T &, F Jo| 1 3| IraqT & SJIae Tal
oA | 3Tk 379N T T AT TR T | EOT TR T ST @l T 11 Wi 37T 9O WeW O
it e fear |

SURIEHRT ST o T SHHT bt G&Aeh! | STEvdeh ISHIHET Ufafedr hiteiw |

‘Kaya Fab Ltd.” issued 1,00,000 equity shares of ¥ 10 each at a discount of 10%
payable as ¥ 2 on application; ¥ 3 on allotment and ¥ 2 each on first call and final call.

Applications were received for 1,50,000 shares. Applicants of 50,000 shares were sent
letters of regret and application money was refunded. Madhur, a holder of 3000 shares
failed to pay allotment money which he paid along with the first call.

Rohan, a shareholder holding 700 shares paid both the calls along with allotment.
Sohan a holder of 1000 shares did not pay the first call and the final call. His shares
were forfeited. The forfeited shares were reissued at ¥ 11 per share as fully paid-up.
Pass necessary journal entries for the above transaction in the books of the company.

14
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31 |, 2014 i 31 e fo=n o1 feafa-faeror =1 uer o -

. T o e
et Q) B Q)

[SRELR 26,000 | s 20,000

HEART i fy 16,000 | =% 30,000
FHR & ffe 30,000| ITRR 44,000

TSt T ;. ad FON

T rere= 2,000 42,000

st 1,10,000 =T T HTART 1,20,000

farem 60,000 1,70,000 | wfet 20,000

AT @rar 10,000

2,42,000 2,42,000

wﬂw%ﬁaaﬁmﬁ%wﬁﬁiw%%ﬁwmﬁw%aﬁmﬁﬁ%ww:

(30 % 2,900 % & 0T feIrad fohd ST |

15

@) foem 3 i H T 35,000 H S o o

(@) WH I @A H G T 40,000 AT T | A SR 39T St Tt Wi AR
AT |

® o SFaiaes O A qer oY HEERT i USRS e & Osi o STER
W T T | T fole ferfd SR WERR Ak TR STHET IAH AHS H A
[CRIRICIN

AT Tl T TTRIRRT % Ui T GaR i |

Following is the Balance Sheet of Amit and Vidya as at 31* March, 2014.

Liabilities Amount Assets Amount
Creditors 26,000| Bank 20,000
Employees Provident Fund 16,000| Stock 30,000
Workmen’s Compensation 30,000| Debtors 44,000
Fund Less : provision for
Capitals : bad debts 2,000 | 42,000

Amit 1,10,000 Plant and Machinery 1,20,000
Vidya 60,000 1,70,000| Goodwill 20,000
Profit and Loss Account 10,000

2,42,000 2,42,000

[P.T.O.
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On the above date Chintan was admitted as a partner for 1/4 share in the profits of the
firm with the following terms :

(a) ¥ 2,900 will be written off as bad debts.
(b) Stock was taken over by Vidya at ¥ 35,000.

(c) Goodwill of the firm was valued at ¥ 40,000. Chintan brought his share of
goodwill premium in cash.

(d) Chintan brought proportionate capital and the capitals of the other partners were
adjusted on the basis of Chintan’s capital. For this necessary cash was to be
brought in or paid off to the partners as the case many be.

Prepare Revaluation Account and Partners’ Capital Accounts.
Jgar/OR

YT, YT qAT THeTel U H o WIERR & q91 AT 50%, 30% 9T 20% o sed & |
31 |, 2014 1 37T Fefa-fgager =7 yepr o

. for . T
LECte rafaat

® €4)
IGEEATY 34,000 | Tk 68,000
qios g 10,000 | ¥ 38,000

F7eeT Sa-geme iy 20,000 | TER 94,000

e - T WMEE= 6,000 88,000
ATheT 1,40,000 e 80,000
oG 80,000 2IIn] 40,000
3,34,000 3,34,000

ST ot BT HGX A STTHIT WeUT Tohar e Aeher qen eret 4 e ot W wH @l A
T 1 o forar

(37) Y @ T 1 godid T 1,02,000 AT T qAT WYY o 3797 P @A BT GHAS BH
i =] Ta ATl BRI o Ysil @i | [ S |
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(F)  HHIR &g o1 T 12,000 T 1 TS &7 &7 q&AT Fa97 s T 30,000 T HT HaAT
T |

(@) I O & oIt werem &t 3 2,000 F 1 fHar S |

(@) TG T 20,600 HT TG PIA [HAT ST TAT I HT ITH HOT G H AR B
feam ST, et A 31 SRIeR fRvat B 10% Wiaed bt 4TSt Y |ied fohar ST |

(@) AHYT qAT HETeT i YST Sl 3 T 3TUIT | FHST fohar ST | 59es fow s
T fefa gRTr 91 A =718, AT QT 31 9 1 T fhar ST |

TR I T HEISRI & USTt @I da) iy |

Lokesh, Mansoor and Nihal were partners in a firm sharing profits as 50%, 30% and
20% respectively. On 31" March, 2014, their Balance Sheet was as follows :

Liabilities A“zg;‘“t Assets A“zg;‘“t
Creditors 34,000| Cash 68,000
Provident Fund 10,000 Stock 38,000
Investment Fluctuation Fund 20,000| Debtors 94,000
Capitals : Less : Provision 6,000 88,000
Lokesh 1,40,000 Investment 80,000
Mansoor 80,000 Goodwill 40,000
Nihal 50,000 2,70,000| Profit & Loss 20,000
3,34,000 3,34,000

On the above date, Mansoor retired and Lokesh and Nihal agreed to continue on the

following terms :

(@) Firm’s goodwill was valued at the ¥ 1,02,000 and it was decided to adjust
Mansoor’s share of goodwill into the capital accounts of the continuing partners.

(b) There was a claim for workmen’s compensation to the extent of ¥ 12,000 and

investments were brought down to ¥ 30,000.
(c) Provision for bad debts was to be reduced by I 2,000.

(d) Mansoor was to be paid T 20,600 in cash and the balance will be transferred to
his loan account which was paid in two equal instalments together with interest
@ 10% p.a.

(e) Lokesh’s and Nihal’s capital were to be adjusted in their new profit sharing ratio

by bringining in or paying off cash as the case may be.

Prepare Revaluation Account and Partners’ Capital Accounts.
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T -9
(fawea-1)
PART -B
(Option-1)

(Fereer vt st Ferwereron)

(Analysis of Financial Statements)

‘gl TAMHSE T foxiid T € | 9] a9 H T 63 T Ueh 0T W ST o e bl
TIfeT i fehg TifATaty o ST S9AT SRR 2

(31 Frerer nidfafy |
@) fa<iig fafary |
@) fordra q°T vETer S idtarE |
@) U= Ty |

‘Koval Ltd.” is a financing company. Under which activity will the amount of interest
paid on a loan settled in the current year be shown :

(a) Investing activity
(b) Financing activity
(c) Both Financing and Operating activities

(d) Operating activity

‘off Tfaee” fSoott H UhioTT 1 Aadd Xl of d91 Usel auf § 384 37T oy 3ieid
foram | A 31O I W faRdR HEAT @R ot e 39 forw 3% AfaRe fam @t
SMEATIAHAT &Y | STYAT SATAHATST Bl T A o eI HHHT 5 T 30,00,000 F THAT 3790
= fam | 28 T 20,00,000 Ht TH FHHRIHd G99 1 5T a1 | 394 T 2,00,000 H
YT BT e HTeT o WIRT | 1e] 99 H BT B I o T 15,00,000 2T |

ST TS & TR TTareliedl gRT kg Telle’ 37d hifey |

‘Shri Ltd.” was carrying on a business of packaging in Delhi and earned good profits
in the past years. The company wanted to expand its business and required additional

funds. To meet its requirements the company issued equity shares of T 30,00,000.
It purchased a computerized machine of ¥ 20,00,000. It also purchased raw material
amounting to I 2,00,000. During the current year the Net Profit of the company was
T 15,00,000.

Find out ‘Cash flows from operating activities’ from the above transactions.
18
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feTa “Aferar goiaei-og faifiee ol Uy Feemd o1 | a9 el & foll 3Tesl o qer oy
ARSI T T AT | 20 ATaeh STRENac & &0 H 98 307 SR i g59id o | favarg
TEAT 97 | 98 Ueh UHT At o7 f98 3Rl Tmsedl dliohl ¥ el &1 ST T i STeI9aehdl
H eI | Al oiaied feifHes’ &1 31 HIE, 2013 AT 2014 T TUA §C a9t 6
A& T qorTcHe faaoT f TR & -

oot e | 2012-13 | 2013-14 e | % uRada
W) @ | "RE
)
T & ST 14,00,000 | 18,00,000 |  4,00,000 |  28.50
T : HHAN fedo™ =4 4,00,000 | 5,00,000 | 1,00,000 | 25.00
HT g AT 10,00,000 | 13,00,000 |  3,00,000 |  30.00
K @ 30% 3,00,000 | 3,90,000 90,000 |  30.00
HT T AT 7,00,000 | 9,10,000 | 2,10,000 |  30.00

(3T) 31 T, 2013 T 2014 H AN & AT a6 o {70 Y S ST Sl TUFT ST |
(&) IR R F TS s v b ST et fohel 51 el bl Te = it |

Nishit was the Managing Director of ‘Lalita Electronics Ltd’. He had been earning
good revenues and profits for the company. He believed in giving respect to his
subordinates as his moral responsibility. He was the one who recognized the need to
find ecofriendly ways to treat waste. Following is the Comparative Statement of Profit
and Loss of ‘Lalita Electronics Ltd.” for the years ended 31" March, 2013 and 2014.

Particulars Note | 2012-13 | 2013-14 Absolute | Percentage
No. Change Change
®) ®)
®)
Revenue from Operations 14,00,000 | 18,00,000 |  4,00,000 28.5
Less : Employee benefit expenses 4,00,000 | 5,00,000 1,00,000 25
Profit before tax 10,00,000 | 13,00,000 3,00,000 30
Tax @ 30% 3,00,000 | 3,90,000 90,000 30
Profit after tax 7,00,000 | 9,10,000 2,10,000 30

(a) Calculate Net Profit ratio for the years ending 31* March, 2013 and 2014,

(b) Identify any two values which are being communicated to the society in the
above case.
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21. T=feRad GemT ¥ Fet Trrd-R0T STUTd Sl TUMET ST

L4

fafafsTe geit 40,00,000

e 2,40,000

gica 7,00,000

SN T 4,00,000

s TGT Xhg o3 3,60,000

T 379 i 22,50,000

8% FRUTIA 18,00,000

STt Heg 3,40,000

e (eM-g1 faraRoT =1 o) (50,000)

From the following information, calculate Total Assets to Debt Ratio :

L4

Capital Employed 40,00,000
Investment 2,40,000
Plant 7,00,000
Trade Receivables 4,00,000
Cash and Cash Equivalents 3,60,000
Equity Share Capital 22,50,000
8% Debentures 18,00,000
Capital Reserve 3,40,000
Surplus (Balance in statement of Profit and Loss) (50,000)

22, (37) HEHA! EFEE, 1956 H AN VI, 90T 1 & SAR 1 71 ot FohA-Toh g wfieept aen
3U-TIYehT o ST Ul & e fararoT o g9 ST
() I IR
(i) geHH
(ili) ep-3TTafeEry
(iv) g
@) Toxitar faazor favetor & =1 31 359l 1 Sooig iy |

(@) Under which major headings and sub-headings the following items will be
shown in the Balance Sheet of a Company as per Schedule VI, Part I of the
Companies Act, 1956 :

(i) Loose tools
(i) Trademarks
(iii)) Bank-overdraft
(iv) Bonds
(b) State any two objectives of financial statements analysis.
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31 |, 2014 i I7 feafaes w1 fefq-faeror = yer o .

- i 2013-14 | 2012-13
E® ®
[. QAT U7 AT
(1) ivrare fafiat
(2n) 3 i 40,00,000| 30,00,000
(CIEEERCICILCE! 1 | 10,00,000] 6,00,000
(2) 3= TTATE
T T 6,00,000|  4.00,000
(3) e ATy
(3) AN SqAE 3,00,000|  4,00,000
(&)  TCIHIA T 2 1,40,000|  1,20,000
) 60,40,000 45,20,000
1.  uRamtaat
(1) 3= gRawtaat
(37) T uRetaEt
(i) o oRemfaE 3| 38,00,000/ 30,00,000
(i) 3T uRgwrat 4 9,40,000|  5.,40,000
(2) e uREtEt
(30) i (AT 5,00,000|  3.20,000
(F) AR wit 4,20,000]  4,20,000
(F) g qAThg oA 3,80,000/ 2,40,000
Hel 60,40,000 45,20,000
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. - 31 3();014 31 3();013
1. | 999 wd ey
3R (G-I TaxoT =it o) 10,00,000 6,00,000
2. | CTIHTCA W
HT AT 1,40,000 1,20,000
3. | T uRewtaat
ENIEN 42,00,000 33,00,000
T e (4,00,000) (3,00,000)
4. | 3T uRgiaat
e 9,40,000 5,40,000

=TT TaESHT 6 &9 § W@ g UHE VaTe a0 R iy

Y % IR T 40,000 AN I Th B, TS0 T THHT Goaa™ T 30,000 2T, T T 9,000
EERERIRic I

Following is the Balance Sheet of Sreshtha Ltd. as on 31* March, 2014.

67/3

Particulars l\li?;e 2013-14 | 2012-13
. ) ()
I. EQUITY AND LIABILITIES
(1) Shareholders Funds
(a) Share Capital 40,00,000| 30,00,000
(b) Reserves and Surplus 1 10,00,000 6,00,000
(2) Non-Current Liabilities
Long Term Borrowings 6,00,000 4,00,000
(3) Current Liabilities
(a) Trade Payables 3,00,000 4,00,000
(b)  Short Term Provisions 2 1,40,000 1,20,000
Total 60,40,000| 45,20,000

22



18.

67/3

11. ASSETS
(1) Non-current Assets
(a) Fixed Assets
(1) Tangible assets 3 38,00,000| 30,00,000
(i1) Intangible assets 4 9,40,000 5,40,000
(2) Current Assets
(a) Inventories 5,00,000 3,20,000
(b) Trade Receivables 4,20,000 4,20,000
(c) Cash and Cash Equivalents 3,80,000 2,40,000
Total 60,40,000| 45,20,000
Notes to Accounts :
S. No. Particulars As on 31-3-2014 | As on 31-3-2013
9 (9
1. [Reserves and Surplus
Surplus (Balance in Statement of Profit
and Loss) 10,00,000 6,00,000
2. |Short Term provisions
Provision for tax 1,40,000 1,20,000
3.  [Tangible Assets
Machinery 42.,00,000 33,00,000
Accumulated Depreciation (4,00,000) (3,00,000)
4.  [Intangible Assets
Goodwill 9,40,000 5,40,000

Prepare a Cash Flow Statement after taking into account the following adjustment :

During the year a piece of machinery costing I 40,000 on which accumulated

depreciation was ¥ 30,000, was sold for X 9,000.

0T — 7
(foeu-2)
PART - C
(Option-2)

(i srais)

(Computerized Accounting)

TS 2961 H YR i ST ool 7 “Thieg” T 31 &

SE0T SRl SRATeY T |

I BT AW |
e ot et ufed |
TIA T AHR |

()
C))
Q)
)
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The term ‘Field’ as applied to database table means :
(a) Vertical column of the table.

(b) Name of the table.

(c) Horizontal row of the table.

(d) Size of the table.

AR ST TUTTAT o el & AT ©
(37)  SAEHNTH THGAT T [OReITor qar TeiEH, detde, w-ei faeror o feafq-faeror
M |

(@) T @i HUTeAT T SATThTeT oi@ieh-T HoTett | ufee |
(@) TSR qd1 Hweaay |
® O U g, Fefueet d¢1 7= |

The components of ‘Computerized Accounting System’ refer to

(a) Analysis and recording of business transactions, preparation of trial balance,
statement of Profit and Loss and Balance Sheet.

(b) Transforming manual accounting system to computerized accounting system.
(c) Hardware and Software.
(d) CPU, Keyboard and Mouse.

1T & [T IRACeRIoT | =1 31 W o fafi= <l sl T Shifeie |

Enumerate different elements of a chart or a graph in pictorial presentation of data.

2T ST SUANT ST §U “Sh-THTIH [Teror I & RO T Sooid HiTT |

State the steps to construct a ‘Bank Reconciliation Statement’ using Tally.

Teh FIIT & ST T 5T WA F TRIGTT T D STEahel il & I” 59 (CAS) B
T} <t foRoaret st THSET S SHaHT i MUAIEd i o1 @ § el id ¢ |

‘A business data needs to be guarded from its competitors.” Explain any two features
of CAS which help a business to maintain its secrecy.

3G 2T I AT ST ST TS T & STl o IS TR & T ST hATHs Rl & |
Tk kel Te ATl o oo HitT |

Name the table which is an interactive way to quickly summarize large amounts of
data. State its any five advantages.
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